Project Name Pavement Resurfacing - Koenigstein Road Spec. No. RD25-12 Abstract of Bids opened on January 13, 2025

ENGINEER'S ESTIMATE: 840,000.00

LOW BIDDER -Onyx Paving Company, Inc. Anaheim, CA 92806

2nd Bidder -Toro Enterprises, Inc. Oxnard, CA 93031 955,589.10

936,000.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Chostana ll. Sein

Director, Engineering Services Department

BID ABSTRACT

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Page 1 of 1

Bids opened on January 13, 2025 Project Name Pavement Resurfacing - Koenigstein Road				ENGINEER'S ESTIMATE		LOW BIDDER		2nd Bidder	
						Onyx Paving Company, Inc. 2890 E. La Cresta Ave. Anaheim, CA 92806		Toro Enterprises, Inc. P.O. Box 6285 Oxnard, CA 93031	
-	Spec. No. RD25-12								
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
6	Mobilization	LS	1	100,000.00	100,000.00	117,889.00	117,889.00	142,000.00	142,000.00
2	Water Pollution Control	LS	1	4,167.00	4,167.00	12,000.00	12,000.00	17,000.00	17,000.00
3	Traffic Control & Construction Signing	LS	1	35,000.00	35,000.00	117,000.00	117,000.00	106,000.00	106,000.00
	Senate Bill (SB-1) Sign	EA	2	2,750.00	5,500.00	5,500.00	11,000.00	1,200.00	2,400.00
i	Roadway Preparation	LS	1	65,000.00	65,000.00	22,000.00	22,000.00	32,500.00	32,500.00
	Clearing & Grubbing	LS	1	17,500.00	17,500.00	22,000.00	22,000.00	11,000.00	11,000.00
	AC Taper With Key	SF	2,020	2.50	5,050.00	6.00	12,120.00	2.50	5,050.00
	AC Base Repair	TN	15	375.00	5,625.00	600.00	9,000.00	415.00	6,225.00
)	Cold Milling (5' Wide)	LF	2,400	6.00	14,400.00	6.00	14,400.00	5.60	13,440.00
0	Seal Coat	LF	2,400	2.00	4,800.00	4.00	9,600.00	3.00	7,200.00
1	Asphalt Rubber Aggregate Membrane (ARAM)	SY	18,814	7.00	131,698.00	4.00	75,256.00	4.15	78,078.10
2	Asphalt Rubber Hot Mix(ARHM)w/Fiber Reinfrcmnt	TN	2,351	160.00	376,160.00	185.00	434,935.00	200.00	470,200.00
3	Shoulder Backing	MI	1	12,000.00	12,000.00	33,000.00	33,000.00	20,500.00	20,500.00
4	AC Miscellaneous Paving	TN	18	350.00	6,300.00	600.00	10,800.00	472.00	8,496.00
5	Pavement Delineation, Striping & Signing	LS	1	56,800.00	56,800.00	35,000.00	35,000.00	35,500.00	35,500.00
	TOTAL				840,000.00		936,000.00		955,589.10

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Said Negm, Gianfranco Laurie

	Bidder acknowledges original bid guarantee MUST be submitted and received			
Bidder	prior to the date and time of bid closure			
Onyx Paving Company, Inc	Yes			
TORO ENTERPRISES, INC.	Yes			

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: ONYX PAVING COMPANY, INC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
American Powement Systems	943792	1000000207	Modesto, CA	#11 - ARAM
Chvisp Company	374600	1000000306	Bloomington, CA	#15-striping

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

Page ____ of ____

LIST OF SUBCONTRACTORS

CONTRACTOR NAME: TORO ENTERPRISES, INC.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
AMERICAN PAVEMENT SYSTEMS, INC.	943792	100000207	1012 11TH ST, MODESTO, CA 95354	ARAM PARTIAL 1 & 2 11
			e.	

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.